Bellwork Alg2 Monday, January 7, 2019

1. Graph this square root function using three points. 2. Write the equation of this square root function:
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3. State the Domain and Range of this function: y = —4,/—(x+ 7) +18

4. Simplify. Use Absolute Value symbols where necessary. 4162w!'2x%"y?

5. Rationalize the denominator. Simplify your answer. Assume all variable are positive.

a) 21b65 b) 12
$967ca 3+/5

6. Solve each.

a) Jx+1 +5=x b) 5(2x-1)

2
34+9=29

7. Simplify. Assume all variables are positive. Rationalize denominator of answers, if necessary.
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8. Simplify.

a) 6J/18 +7J75-3430 b) (4-3J7)(5+2J7)
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6. Solve each.
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7. Simplify. Assume all variables are positive. Rationalize denominator of answers, if necessary.
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8. Simplify.
a) 6J/18 +7/75-3/30 b) (4-3J7)(5+2J7)
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